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2.

T Z2™ellA AD//EF //BC & ®, x+y 9] g7

® 105 @ 225 3)30.5 @ 24 ® 30

~&B

DF:FC=10:75=4:3°E2 AE:EB=x:6=4:3,
x = 80|t}
BD¢ BF 7} vht=4S Gt 5hH, EG: AD =6 : (648) =
3:70|22

EG:12=3:7 .. EG=

GF:BC=12:(124+9)=4:7°]B2
90

7:y:4:7,y:22.5°]q.

m2hA] x+y = 30.5 o]t}
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th& 199] AABC 94 E, F £ AB 9 3 580|131, AD £ %
oItk EP = 6em 9 1, PC 2] Ao)5 Fohwl?

A

@ 6cm @ 9cm ® 12cm @ 15cm @ISCm

FD = 2EP = 12(cm)
CE = 2FD = 24(cm)
. x=CE-EP =24-6=18(cm) ©|t}.




50 B2} 27 : 64 91 5 BKAANA 2 HRAA ] & B el
o7} 6em & W, 2 FEAA ] & BA | Lol S F5hH?

@ 2cm @ 4cm 3)8cm @ 12cm ® 16cm

B

=87 a: b 2t St R0 Hl= AAIEE] Ho|BRg 43 : b® =
27 : 64

wakA a:b=3: 40|t}

2 ASHA ] BA2e] dolE x et olH6:x=3:4

s x=8(cm)




5. TS 9o ABCD o] AD//EF//BC, AE: EB = 2 : 3 0] 1,
AD = 6em , BC = 15cm 9 o, PQ 9] Zo]=?

12 1 24
@) gcm @ ggcm ©) Ecm
@ —cm ® 6cm

AABC oA AABCOAAEQ ©|E2 EQ:15=2:5, EQ =
6(cm)
AABD ©|A] AABDAEBP ©|E2 EP : 6 =3:5, EP =
1
;(cm)

- 1 12
PQ:EQ—EP:6—€8:g(cm)




oh2 2182 /A = 90° %) A 77T ABC | H21H Aol|A BC ]
e Ao dg Dt sk, A BeF CollA] BCol 242t 2] 2 & 1o
ACSFAB O] A4} Tt e Bt Fet & o, x9F y o] g7

O x=4,y=16 @ x=4, y=32 ® x=6,y=24
(@)x:&y:24 ® x=8y=32

A 7t7t4 ABC DBAE ®&
—BC:ABO|E2 x:4=16:x

ABCF oA BD:BC=BA :BFO|BE&24:16=x: (x+)
4:16=8:(8+y)

8+y=32

Ly=24




7. T3 199 AABCAA H G aABC Y FAFTAHL o, y — x 9]
= ke

A

D 4 @ 5 3)6 ® s ® 10

AAGE CO AADF(AAB-3) 0]X F2H]71 2: 30| B2
3:2=9:x, x=6

G AABC 9 A ZFAl0]l22 BG: GE = 2 : 1THEHA]
2:1=y:6, y=12

L y—x=6




8. Thg 1A A G £ aABC o FAF4olth BC = 24em 2 u,
AD o Zolg vt2A 73 227

A

@ 34cm @ 35cm @36cm @ 37cm ® 38cm

~&B

A D £ BC 9 $3°|EE AGBC 9 4|t

ﬁ:C_D:G_D:%m:m(cm)

- AD =3CGD = 3x 12 = 36 (cm)




